10

Ratio to CDF
[N

0.5

1800 GeV ppbar

__G__
__.E__
—a— Pythia 8.183 default

Sum(pT) vs Ag (ij1 > 30.0 GeV)

CDF
Herwig++ 2.6.2 default
Herwig 7.2.0 default

Underlying Event
L

Rivet 3.1.0, > 5.8M events

B e Sherpa 2.2.8 default -
o —
—4m -
| l‘ 0_
L\ m_
S -
b“ - 2 (ﬁ

= N e —|
— i 45?’""‘““
- & = m ' = ¢l -

N ey i ]
- A i ) . R ;“I()I Q,"{ _:‘ ‘f —]
B T v ; j* 4___ .|;="=E.Q 2-‘ !I ‘ VW )
— CRER I —=
_| | | | | | | [ | | | | | | | | | |_
:l T T T T | T T T T | T T T | T T I:

“g EY aﬂ. '&:% ;‘i'm ‘--‘

0”" !%I %l "L--E ; .
| " E D, *’ : 5
B u : 4 ‘
B ‘ \
B N :

|’ . ] C L ] S

0 50 100 150

A/ degrees

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


